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Why is it so by an 71992y %285 because she leaves through no>

OVERVIEW

The X713 sought to derive 72 *W17°p from a 7nkn 1"'p. If an 79X who is
weaker' than an qwX (for she is not 7X°22 nN°3pP1), can be 7012 N°1pP1, then an
TwX (who is stronger than an 7X) can surely be 1032 n°1p1. The X773 initially
attempted to refute this 'p by saying 1210 712, meaning that being
‘stronger’ than an 7R (in the sense of being X212 N°1P1) is not a compelling
reason to be 7022 napl, for a 72 is (also) nX°22 NP1 (and therefore
‘stronger’ than 7X) and nevertheless is not 7022 N°1P1. The X&77a refuted this
m°21 by arguing that an WX 1s ‘stronger’ than a 7n2 for a 772 is not AR
w2 (as an AR 1s) and a AWX is Ww2 AXXY. The X m) then offered its
refutation of the 1"'p that an 77X is 7022 XX and an WX is not.

nooIN asks:
— 2nN%313 905 999 RN ON)

And if you will say let us derive 1> 11 by an 7wX from 718%2 112 by an nwx
through a 1"p. The 1"p will be as follows -
— YN DNP N292¥N NNINI NP PNY AN NN

And if 78°3, which is not 7132 by an a»R (proving that it is a weak 11p), is

nevertheless 1192 by an 7wR, then -
—>nUNa NIPOY 119N NP9aYN NN NNPY 90

no> which is 7% by an 7592w A»R (proving that it is a stronger 7"1p than
nx2), it should certainly be 7272 by an 7wn!

N1B0IN answers:
19092 N3P NPNY AN’ NIPIY NN NN “79951Y RIINT 19V 93 919 W

" The term ‘weaker’ here means that she does not have the capacity to be acquired in the manner that an
7w can be acquired. The term ‘stronger’ indicates the capability to be acquired.

?noa is a ‘stronger’ Tip than X2 in the sense that it is effective in places where 7x°2 is not (as M2oIN points
out). 7X*2 is not NP by an AR, and 703 is; proving that 701 is stronger than nX*2. It follows that wherever
X1 is effective ([as] by an nwX), then 703 should surely be effective.

* The advantage of this 1"p (over the 7n8n 1"p) is; that we cannot say 7022 NRXY 19w 71K 1, for we are not
discussing the strengths and weaknesses of R but rather the strengths and weaknesses of nX*2 and fo>.
[The fact that 77X is 7932 nXX¥1 only enhances the strength of 703 1°3p.]

* mooin is refuting the basic assumption of this 1"p that 703 is stronger than X2, It is not so; for X*2 may
be stronger than no3. This can be proven from 712°; that she is not 71032 n°1p1 but is X232 N*1p3. See NMBOIN
w"R77 who (does not use the word '1°210', but) states; 1P AR™2AW QPN 7122 AP 1TRY WD YT PV l']OD‘? .
> The word r°210 here is to be understood that 7n2> ‘proves’ that 493 is not ‘stronger’ than 7x"2.
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And one can say; we can certainly® refute the 1"'» by saying s3> will
disprove this 1"'p; for a fin2’ is 8322 NO1P1 and is not 1923 NoIP.

SUMMARY
703 1s not (necessarily) a stronger 7°1p than 7X°2 (even though 703 is 7P by
7R and 7X"2 is not), for 103 is not P by a 712> where X2 1s A1P.

THINKING IT OVER

mooIn explained that we cannot derive 702 “W17°P from 1X°2 because X2 1S
stronger than 703, for it is 772°2 NP (which 723 is not), and therefore it is
owR2 1P (but 703 will not be AWX1A A11p, since it 1s not 7222 71P). Why do
we not ask on this X370 that 1°21° 7vw; even though 70w is not 7P by a 7n2,
nevertheless it is 7P by an 7WX (so the same should apply for 703). If we
will argue that W is XX by an 7w and therefore it is 9°127 (as opposed to
703 which is not X*X1), we can respond that 7210 7%, for is not XX and
nevertheless it is 0°10n. It will be a 177 7117; so we can derive 702 through a
MW 7% of 782 and Tvw. Why therefore is a P105 necessary?!’

APPENDIX

Concerning the question which the X"w77n (and others) asks that we should say
™21 7w and disprove the X370 from 712, it is possible to suggest the following
argument. In our 1"p from nX°2 to 702, both the X71p1 XA as well as the 1°7 that is
to be derived are concerning 1°Ip. The initial X727 of 703 is that it is 7282 71Ip, the
subsequent X37°9 that X2 is 70 than 702 (for it is 712’2 71P) is concerning 1P,
as well as the 17 that is to be derived is concerning 1°3p. In such a case perhaps it is
inappropriate to ask r°21 qww as will be explained.

There are other instances of a 1"p where the X731 X as well as the 79 and the
intended 177 are concerning different issues. For instance the *x 3 in ’nos derives

® The w"> can be understood in two ways. 1. Initially when the X3 said 7910 7n2, it did not refute the
basic assumption of the 1"p that 7wX is ‘stronger’ than 7»¥. It was (merely) a 11°31 that even if something is
stronger than nX (like a 772>, which is %22 n1p1), nevertheless it does not necessarily follow that it should
be 7032 73P1. However in this 1" the 712 is not merely a 7721, but destroyed the entire foundation of the 1"p
which suggested that 70> is stronger than nX*2. From 712> we see that 7X°2 is stronger than 703. 2. The
X27" KI'77 XIp°vn by nnRk did not entirely disprove the purported claim of the 1" that an AWK is stronger
than a 7nX as far as being n1p1 is concerned; the manner in which it refuted the 1"p was that since 7inX has
additional ways of nX°%>, therefore we cannot derive 7wX from K. However here, 72’ refutes the entire
basis of the 1" (as mentioned in # 1). Since this 1" can be refuted more soundly than the 1"p which the
Xn»12 brings, therefore the Xn>72 chose that 1" over the 1" which m»oin suggested.

7 See [71x] X"wnn. See also ‘Appendix’.

8 x,791 3,70
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that 1"22 is X372 MOKR from a 777v2 1"p. The R0 of n1"22 over 777 is that 7723
77°2Y 13, therefore if 797 is X172 70K, then 11""22 which is 7717 (since 12 77203
77°2y) should be surely 7X172 70K,

The X723 there then refutes the 1"'p, for 7%7¥ is more 7 than 11"'23, for 7% PX 77V
w5 nyw. This X37°9 is then refuted by a m°>1 from ynn, for ynn is nyw 7% w»
w1077 and nevertheless it is X372 70K, therefore 1122 should also be X172 MOK.
The r°21 there of y»n is understood. Granted that 797y has a X211 over 11"22 (that
DT NYw ann RY), however nooa ynn proves that this & is irrelevant
concerning nX17 MOX, for ynn does not have that X717 and it is X172 MOKX. Once
we prove that the purported new X117 is irrelevant to the discussion, we rely on
the original \"p that n1"'22 is more 21 than 797,

This 51 there is valid because the various N1 (whether 772y 12 772V or XY
won nyw an°a) are not directly connected with the intended 7°7 that is to be
derived (7817 M0°R). We can debate whether the new X727 1s the cause of the
intended 7°7 or not. 11052 Y11 proves that w137 NYW is irrelevant to AXIT MOX.

In our case of 11X°21 702, however all the MmN and the 17 to be derived are in the
very same issue; whether it is 7132 or not. Initially 703 was considered more 107
than X2 because it is 7132 by X and 7X°2 1s not. This X7 of 703 was refuted,
for 7IX°2 is 1P by M2’ and not 7O1. At this point there is no possibility of a 1"p;
both 72 and nX"2 are equal 2°1°3p. The very same X1 that 702 has over X2, we
find the very same X117 by 7X°2 over 702. When we refute the 1"p with 7n2 we
are not merely arguing that 7X°2 also has a X717 over 102 and that is why it is 72
7wX2; but rather that if in the same concept of 2°1°I1p we find sometime that 703 is
712 and not AX°2 (as by 7nX) and other times X2 is 1P and not 702 (as by 7M2%)
this proves that X231 703 are equal and there can be no 1"p.

If we will say m°21 q0w; for it is not 7n2°2 A1P and is AWR2 A1p, what will that
prove? Can we say that it will prove that 703 is stronger than 71X°2, or that the X721
of 7X°2 (that it 1s n2°2 A11p) 1s irrelevant? Definitely not! It cannot prove that 703
is stronger than 7X°2. And it cannot prove that the fact that %2 is anp (by 112)
and not 70> is irrelevant. For any 717 of X" is always relevant when we are
discussing whether 793 must be 7117 if %2 is 71pP!

To summarize: A 27 is valid to refute a X37°® when we can discuss whether the
X1 is relevant to the 17 or not (as the case is concerning the X1 of 797y (of
w0 nyw). We can say that ynn proves that w127 nyw is irrelevant concerning
X117 Mo°R. However when the X117 of the X37°0 is similar to the original X111
and is in the very same category of the "7 which we wish to derive, then certainly
a 1°27 of this sort proves nothing!
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